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51 A particle is thrown in vertically upward 51
direction from the surface of earth. Its
velocity-time graph will be-
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52 Sound waves cannot exhibit phenomenon 52

of:-

(1) Interference
(2) Diffraction
(3) Refraction
(4) Polarization

N
AMAN

An object starting from rest acquires a 53
velocity V in time T. The instantaneous
power developed at time t is proportional

to:-
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Newton’s second law of Motion:-
(1) Defines the force
(2) Measures the force
(3) Measures the momentum
(4) Measures the impulse.

Ultrasonic used in 55

ultrasonogrphy because these have:-

waves are
(1) high power and travel in well-defined
straight path

(2) high penetrating power & spreading
nature

(3) ultra high frequency and intensity

(4) no harmful effect

Impulse is equal to:- 56

(1) Area under F-t graph
(2) Rate of change of force with time
(3) Rate of change of momentum

(4) Impact of force.

Dyne-cm is the unit of:- 57

(1) Work
(2) Power
(3) Momentum

(4) Impuise

Mass of earth in terms of g, Gand R 58

(radius of earth) is

GR
(1) =

gRr?
@ =

g*R
@) =

G
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Period of a simple pendulum at the centre
of earth is

(1)0
(2) 2
(3)1
(4) Infinite

An object is moved 32 km verticially
upward from the surface of earth.
Percentage change in its weight will be

M1%
(2)2%
(3)3%
(4) 4%

AMANS MATHS BLOGS.COM

The effect on frequency with increase in
temperature of a tuning fork is:-

(1) Increase

(2) Decrease

(3) No effect

(4) Depending on nature of material

A sound absorber attenuates the sound.
level by 30 dB. The intensity decreases by a
factor

(1) 100
(2) 1000
(3) 10000
(4) 10

A body is just floating in a homogenous
liquid. The body is just pressed down and
released, it will :-

(1) start oscillating

(2) sink to bottom

(3) come to same position immediately
(4) come to initial position slowly

Pitch of a note depends on its:-

(1) Speed

(2) Amplitude
(3) Frequency
(4) Wavelength
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gl @ D R @ T WA AdD T
Irad Brd BT @ (Aavs #)
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(3) 1
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v Wl fgqs &1 amee se™ @ 39d

B wa v @
(4) geref @) uafy ox ey o @

% @y Jaeive @afy ot 30 SRaad w0
HX Qa1 § | =@ty B faar fvw gone
&R &9 Bf?

(1) 100

(2) 1000

~{3) 10000

(4) 10

TF %] Wl wa § facea ) @
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A body is moving unidirectionally under
constant power. Its displacement is
proportional to

()it
() t

(@) ©*
(4) ©

The momentum of an object decreases by
20%. The percent decrease in its kinetic

energy

(1)8

(2)18
(3) 36
(4) 40

The phenomenon by which stars recede
from one another is explained by:-

(1) Black-hole theory
(2) Neutron star

(3) White Dwarf

(4) Red shift

The ratio of kinetic energy of two bodies is
4:1 and ratio of their momentum is 1:1. The
ratio of their masses is:-

(1) 4

(2) 11

(3) 1:2

(a) 1:4
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The variation of gravitational force between 69
two bodies Versus distance between them:-

&l avqan @ g TeareyUr ad qur
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Earth revolves around sun as:- 70 gyl YA @ aArt IR gu avE gAd -
e _ il
) —. W } 8,
\J A ot
(o DS A Q .............................. 6A“"‘ c Q &:“
tun ,/‘ L 1
3 __D__f,, -
At which point its linear velocity is feu g W yedft @) Iefim are sftesan
maximum =
(1) A (2)8 ) A (2) B
(3)Cc (4)D (3) c (a) D
When a body is projected in space thereis 71  wia &I avq aler ¥ Ba#l o) @
an increase in its SRS 3 AN R3] dedl 8 /dedr 2|
(1) Kinetic energy (1) s weit
(2) Potential energy (2) Reafos et
(3) Momentum \BywdT
(4) Mass (4) wewsr
Which of the following force is different 72 frefaRaa § @ a9 90 =g 9 @/

from the other three?

(1) Magnetic Force
(2) Frictional Force
(3) Electrostatic Force
(4) Gravitational Force

=1 &

(1) g==1a a9

(2) asfor aa
)y Rer—dega a@e

(4) TecaTadT @@
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Two cylinders A and B of mass m each and
radius r and 2r respectively are placed on a
smooth horizontal surface vertically. The

ratio of pressures exerted by them

respectively on the surface is:

(1) 12
(2) 21

(3) 4:1 &\ L
AMANS MATHS BLOGS.COM
(4) 18

N

\\\§

Three Holes A, B and C of equal size are
drilled in an iron drum filled with water, at
vertical distances 10 cm, 40 cm & 60 cm
from its bottom respectively, from which
hole the water reaches the farthest distance

(A
(2)B
(3)C
(4)All A,B and C equal

Which of the following statement(s) is/are
true about universal gravitation constant G?

(A) Value of ‘G’ is same everywhere

(B) Its value is same in all systems of units
(C) Its value was first found by Henry
Cavendish

Code:-

(1) A and B only
(2) B and C oniy
(3) Aand C only
(4) AllABandC
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74
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76 Which of the following is not used as 76

lubricant in machines and engines?

(1) Graphite
(2) Air cushion
(3) Mobil

(4) Crude Oil

A S m a1 & A fEa)
ﬁwr@'m;razré,wféﬁﬁﬂm
dd W FHafer ¥ ¢ ¢ d9Fl A9 B
&RT I R oY Y Q1 BT I o
M) 12

(2) 2:1

(3) 41

(a) 18

UH Uit @ W gL dle @ g A W
FeR @ o e A, Bac gm @ fad
dad ¥ HAe: 10 WA, 40 AW 9 60 A A
o8 o fay g &) T @ Fa-R B @
e W arft aftrean g R ggAm?
WA z :

(2) B

ey
(a) =1 A, Bailk CR awraw

fr=fafaa & @ s9—w1/? su= ardfye
TF Rewis @ arR ¥ wew 2 /27

(A) G &1 "9 OH) ¥l 9X v obTr IEdr
21>

(B) FuHT W W 3o vgfal ¥ U@
| 2|

(€) Fu®1| AT wdwery 298 BIRY S
dsnfe 2 s fear |

He:

(1) aq A @ B

Y Paa BdC
(3) dad Ad C
(4) A,B @ c dr=

fr=fafaa 4 @ sl9—w1 Wge w2l 9
gt ¥ gAlr GE A §ar 2—
G

YT
(3) sifa=
(4) = da



77 The drag exerted by fluids depends on 77 Ol §RT AT AT SN iR $war

-

(A) Shape of the object (A) TG B 3Pl
(B) Nature of the fluid (B) aRal B PRy
(C) Speed of the object with respect to the (C) a%q @ X B wrder TRy
o 7

(1) A and B only (1) s

(2) Band C only (2) ¥a7 B 4 CW

(3) Aand C only (@) dTa AT Ccw

(4) All ABandC WA B acwft w

78 Two cars A and B moving with uniform 78 @ &R A 9 B B9 60 fFd) ufy wer @

velocities of 60 kmph and 80 kmph 8o feaft ufa ger 9 ve wa= 37 |/ T4
respectively are at points X and Y on a ¥ 2| o wa Y& Anf g¥ e X ailw
straight road 420 km apart. If the cars meet Y ﬁﬁaﬁ W 420 R @ @ w ) af
at a point P between X and Y the ratio of the SR frly ﬁ% P ot fs xailk vy @ g 2

distances XP and PY is: !
(Assuming that cars are moving in opposite

W frercht & At xp @ PY gRAY @1 auTa
2— (ar R RAgda R ¥ 9a @ )

directions)
(1) 75 (1) 7:5
(2) 3:4 (2) 34
(3) 6:7 (3) 6:7
(4) 7:6 ) 7:6
79 In the equation of motion, S=at+bt?, S 79 TfY & TNBT S = at + bt N S BT AP
and t have the Sl unit m and s respectively, s m(Hl) 2 721 t &1 s (WD) 2, at a
then the SI units of a and b respectively are:- d b P AED UEAD HHIA: 2—
(1) ms=2, ms- (1) ms2 ms-
(2) ms™, ms2 : _f2) ms, ms2
(3) ms™!, ms™ (3) ms™, ms™
(a) ms2, ms-2 (4) ms2, ms2

80 An object starts moving from rest and with 80 U avy Rvw sawen § 9o yrew e

a uniform acceleration of 4ms2 The 2 TUT 4ms? S UH HIF v § Fod) 2
distances travelled by it in 6", 7% and 8t U@ T IO T Fafy @ v, wras,
seconds of its journey respectively are in Jed Ads @ <N Fell ¥ gRA F
the ratio: B JITT B—

(1) 6:7:8 \!/663718

(2) 36:49:64 (2) 36:49:64

(3) 11:13:15 " (3) 11:13:15

(4) 121:169:225 (4) 121:169:225



81 Two stones with masses miandmz (m>m;) 81 HHI: my d me GAHTT dTdd &1 TR (me>

were thrown vertically upwards from ground m2) GRIAS ¥ AL us d uz 37 ¥ SO
with velocity us and uz respectively. The time fron & ®@ wv| wny 3afy e fae
period for which they remained in air are:- gar ¥ @ -
uy iy
Lot M2 i 1) A —g T —
(Bi="g and % g respectively (1) = ng
wynty uzmz . o uyny Wpmy
(2) = and = respectively W’T TS
Zmy 212 i ;
(3) 7 and = respectively (3) e % . 2_:;1_;_
(@) 2 and *“ respectively 2.
v f (a) war: 24 g 22
9 g
82 The volume of 50 g of a solid substance Xis 82 U® 50 U1H G+ dlel aly uared X &1
20 cm® and that of 25 g of another solid ATAGT 20 cm® 2 wid f& z;{ﬁ e Y &7
substance Y is 25cm?®. If these two solids are T 25g 2 dUT ATIAT 25cm® @ | AR
immersed in a liquid of density 0.875 g/cm? = ol @ va ga ¥ garar sy e
(both X and Y are insoluble in given liquid). 0.875g/cm? 2 at @ ghm?
Then —
(1) X Q& WY, Y &9 dd 9 AR
(1) X will sink, Y will float (2) X ga WY, Y &d H el e
(2) X will sink, Y will remain submerged in (3) xa v <= g4 oA
U liquid \(&}xd vy Ml ea @ da ww R

(3) Both X and Y will sink
(4) Both X and Y will float

83 Match the following correctly 83 gfwua framm &Ry
& | T
Column | Colunm Il A. Rrar (a) Bfa Rreeh
A. Sitar Vibrating membrane = :
I S B. dddl (b) ®a aryg
B. Tabla ) Vibrating air > o
> ; -
C.Flute /" \(¢) Vibrating string C. FH SRR
Codes A. B. c. e e B. C.
(1) (a) {b) (c) (1) (a) (b) (c)
@ (© (® (a @ @ ® @
G ® (© (@ Af})( () (€ ()
(4) (©) (a) (b) () (a) (b)
84 Which of the following animals produce 84 frafafaa & @ sta—w Sq wis @it
ultrasonic waves? IS BYAT B
(1) Doiphin u(y)/s?aﬁra
(2) Whale (2) @4
(3) Elephant (3) =ref

(4) Alligator () afsara
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The other physical conditions remaining

85

unchanged, the velocity of sound in air at

273 K, 295 K and 300 K are v,, 1, and V3

respectively which of the following relation

is true?

(1) Uy >Uz > U3

(2 v, >v3 >y

B vz>v, > Q \ |

Q
.

.COM

AMANS MATHS BLOGS

@v; >v, >v
3 1 2

The working of stethoscope is based on t
phenomenon:

(1) Refraction of sound

(2) Reflection of sound

(3) Absorption of Sound

(4) Diffraction of Sound

Which of the following disease is not
caused by noise pollution?

(1) Hypertension

(2) Anxiety

(3) Lack of sleep

(4) Low blood pressure

When two bodies of different material are
rubbed against each other, they acquire:

(1) equal and like charges

(2) equal and unlike charges
(3) unequal and like charges
(4) unequal and unlike charges

Which of the following star is at minimum
distance from the earth, next to sun?

(1) Sirus

(2) Alpha Centuri

(3) Pole Star

(4) Barnard’s Star

he 86

87

88

89

g Atfae aRRufYaT aam @ w

273 K, 295 K 21 300 K 1995 U¥ eafy &
arg A A HHL: Uy, V, a¥T U3 2|
fFr=fafaa & | s9-wr gag @ 22
(1) vy > v, > v,

(2) Vy > V3 >V

VMV3>1’2>V1

(4) V3 >V >0V

WUIEHIY &) 1 goed) &1 AR 82—
(1) =afsy sgad=
(2) eafy grad=

3yt &1 sraeriyor

(4) =affy &1 fHat uv g

fFre=ifaRaa 4 @ sta—ar A wafy gqem
& SR AE Bl 2

(1) afy a=ma

(2) faen

(3) arfsrar

\A4) fr=i Yaxam

wrq g1 = geraf @) aequ amuw A
) wrdfl & ot ue v affa sid &
(1) w1 v wodla apder
(2) w1 va fundla sndw
(3) rH= vd wuiidla a9

v v el saw

¥d @ are fFeefafeas # @ o7 o o
gl ¥ A g uw @2

Ay

(2) w1 A8
(3) ga damra
(a) 7€ @y



90 Match the constellation given in column | 90 v | ¥ fRu v ary Hsal & W 0w

with their time of visibility from earth in fay v e fRwrd 23 @ wHy @ Wiy
column Il iy sRu |
Column| Column i i iy

A Ursa Major__ (a) January A st ASR (a) TR

B Ursa minor, & b) November B.3rdf AER  (b) TAER

C Orion— A}X\é(c) June-July C. JRTT (c) SA—TE

D Cassiopea’ \(d) April D. dRrAfar  (c) sl
Codes: A. B. C. D. @e: A B. C. .D.
B @ ® (@© () @) e} B ER): - ()
@ (© (b) (@ (d “ () (b) @ (d)
B @ (9 @ (b B) @ (¢ (@ (b)
(@ m® (0 (a) (d) (4 ® (© (@ (@

\;

\

\
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The electronic configuration of S% ion is

(1) 2,8,7
(2)2,8,8
(3) 2,8

(4) 2,8,8,2

The chemical symbol of antimony is:

(1) Am
(2) Sb
(3) At
(4) As

N N § i 4
AMANS MATHS BLOGS.COM

The increasing order of the e/m values
(charge/mass) for electron (e), proton(p),
neutron (n) and alpha particle (a) is:

(1) e,p,n,

(2) n,p,e, a

(3) n,p, a,e

(4) n, a, p,e

There are four species, P,Q,R and S with
composition as given below

Proton Neutron | Electron
P |12 12 10
Q|13 14 10
R | 17 18 18
S |16 16 18

Which of the following forms a compound
with x2ys type formula?

(1) Pand Q

(2) Pand R

(3)Qand R

(4) Qand S

The formula of the sulphate of an element
‘A’ is A2(S0q4)s. The formula of nitride of

element ‘A’ will be

(1) AN
(2) AN;
(3) AN
(4) AzN3

v fasr
CHEMISTRY

91

92

93

94

95

Hir — |l

ST &1 g~ fa=amy ghar 2 —

(1) 2,8,7
2,88

(3) 2,8

(4) 2,8,8,2

T &1 vmafe udle gar 2

(1) Am

(2) Sb
3 At

(4) As

FATLH (e). Wield (p), &1 (n), @
HTHT B (o) D e/m (AT / TaHIH)
e BT dedl B4 ¢ |
(1) e,p,n,

u2yn,p.e, a

“(3) n,p, a,e
(4) n, a, p,e

wfisfisr P,Q,RTUT S @) wvasr =
aiferer ¥ sifea &) 12 2

uters S A golaci+
P |12 12 10
Q|13 14 10
R |17 18 18
S |16 16 18

T W B xy:s UBR &1 Gife aran
27

()P Q

{2) P @R

(3) Q@R
(4) Q@uT S

I ‘A’ D Uehe BT YA Ax(SOs): R | T
AP ATIETES BT I BT :

(1) AN
(2) AN

(3) AN
5/% AzN3
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The average atomic mass of a sample of an
element ‘X' is 16.2 u. The percentage of
isotopes '$X and 'JX in the sample will be:
(1) 90% '£X and 10% '§X

(2) 10% '$X and 90% '3X

(3) 50% '§X and 50% '8x

(4) 75% '$X and 25% '§X

Which of the following list have three
elements?

(1) Argon, magnesium, phosphorus
(2) Magnesium, bronze, hydrogen
(3) Brass, phosphorus, potassium
(4) Petrol, ether, water

When a-particle (1He) is bombarded on
iBe, then ':C is formed along with emission
of particle.

(1) iH

(2) on

(3) fe

(4) e

Number of H20 molecules in a drop of
water weighing 0.5g is

(1) 1.5x10%

(2) 1.672 x 1022

(3) 1.5 x 10%

(4) 6.022 x 1022

Which of the following is an odd electron
molecule?

(1) CO

(2) NO;

(3) CO:

(4) SO

The equation shows a chemical reaction
between sodium and water. The equation is
not balanced. What are the values of x and
y to balance the equation?

x Na + yH,0 — 2NaOH+H;

X y

(1) 1 1
(2) 1 2
(3) 2 1
| (4) 2 2

96 U® dcd ‘X' & itad wHVIfae aane
162 UR | SUD U 1 # WRIf1d
16x 3ty '8x @1 ufeera feasm st?
(1) 90% '$X and 10% '§X
(2) 10% 'SX and 90% '8

{3750% 16X and 50% '8
(4) 75% "X and 25% '§X

frfafeaa wEl 4 @ o9 w Reaw &=
dacal & <ufar
(1) amfs, A=A, EREi
(2) A=NRrm, sreu, wEgE
(3) daer, wrewiva, qidRram
deid, goR, oid

97

98 W4 JAeWHl Bl (1He) ) AIBR JBe W I
ol ® 9@ '2C gan @ 3R U
S BT IO 2l 2 |
Wi
(2) on
(3) e
(4) e

0.5 g 4R arell urf #) & < 4 SuRera

H.0 at @) & 'Eﬁ"ﬁ -
\,aﬁ:'?w”

(2) 1.672 x 102
(3) 1.5 x 102'
(4) 6.022 x 102

100 fr=ifafaa & @ &9 wr Qwy gdee
vy 87
(1) CO
(2) NO:
CO;
(4) SO

101 At e wiewe, 9ifsas va oid @
dra varafie e sufar 21 g8
e aqfaa i 21 39 whewr ot
u=qfera &3 & fae x va y &1 e @

99

g

x Na + yH;0 — 2NaOH+H;
i . X

m -

@

N =N =S

1
1
(3) 2
) 2 |
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103

104

105

106

107

What is the ratio of the number of
molecules in 71.0 g of chiorine to the
number of molecules in 2.0 g of hydrogen?
(1) 71:1
(2) 71:2
(3) 2:1
(4) 1:1

AMANS MATHS BLOGS.COM

The equation for the burning of hydrogen is
shown

S

2H2+0,—>»2H20(g)

One mole of hydrogen was burned with one
mole of oxygen. What was present after the
reaction?

(1) 1 mol steam only

(2) 1 mol of steam + 0.5 mol of O; gas

(3) 1 mol of steam + 0.5 mol of Hz gas

(4) 2 mole of steam only

Chemical name of vitamin A is:
(1) Thiamine

(2) Retinol

(3) Riboflavin

(4) Ascorbic acid

Sky appears blue in colour due to
(1) Scattering of light

(2) Refraction of light

(3) Reflection of Light

(4) Interference of Light

Arun has prepared 1% (by mass) solution
of NaCl in water. Which of the following
correctly represents the composition of the
solution?

(1) 1g NaCl + 100 g water

(2) 1 g NaCl + 99 g water

(3) 1 g NaCl + 1000 g water

(4) 1 g NaCl + 999 g water

Shell with lowest energy is:
(MK
()L
(3)Mm
(4)N

102 710 g TiiRA S= 20 8

103 wHiBYT EISgiEE @ 489 & waldid

Bl 2

2H2+0,—>2H:0(9)

v Wel wTgSieE 1 1 Al JAfeieT &

Wiy <e fear omar 2 | efae &

& R feme gered @ 81?

(1) 1 Wa A9 Pad

(2) 1 @it WG + 05 Hd Oz A4

(3) 1 #iel W9 + 0.5 Ad He A
®ad 2 Al AU

104 el v &1 yarafie A/ adr gdr 872

(1) agf
2y ATa
(3) wEtwelfa=
(a) wEBIfd® et

105 amaET &1 Aven ¥ frw s @ ghar @

Uy &1 gBl
(2) U BT YA
(3) UdI &1 URTETd
(a) warer &1 afadIoT

106 3wl A 1% (seam gfaerd) NaCl &1 Sic

¥ faaas aamar| Preafafaa 3 @ 19 W
farara @ we) Weed quidr 87
\ (1) 4g NaCl + 100 g Sie
(2) 1 g NaCl + 99 g vidl
(3) 1 g NaCl + 1000 g Sl
(4) 1 g NaCl + 999 g Gicl

107\/‘?ﬁuxmfaraﬁwm%a
K

(2L
(B)M
(4)N
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109

110

111

112

Under which of the following condition we
can boil water at room temperature?

(1) At very low pressure

(2) At high pressure

(3) At atmospheric pressure

(4) At critical pressure

Richa has 144 g ozone, Naina has 0.2 mole
of P« while Ankur has 36.02 x 102
molecules of N Which of the following
represent the correct order (in increasing
order of atoms)?

(1) Ankur < Naina < Richa
(2) Naina < Richa < Ankur’
(3) Ankur < Richa < Naina
(4) Richa < Ankur < Naina

The table given below gives information
about four unknown substances.
[Room temperature = 30°C]

Substance Melting
point (°C)
-188
-110

16
37

| [Pl e —

Which of the following substance isa
volatile liquid at room temperature.
Ml

(PARL

(3) 1

(4) v

Sl unit of density is
(1) m®

(2) kg

(3) kg/m*®

@A

pH of acid rain is
(1) More than 5.6
(2) Between 5.6and 7.6
(3) Less than 5.6
(4) More than 7.6

108 ﬁwﬁf’@aﬁamqﬁwﬁtﬁgﬂm

aﬁwa%amwmwa%?
(1) 9gd ¥ 7@ N
() R

110 mammmmma

ar § ya o 2
(ﬁmamﬁ=3o°c)

ﬁﬁmﬁaﬁﬂma%mww
arsaeiia <d 87

M

(PA3L
i

(4

111 maﬁsnmﬂ%

(1) m*

(2) kg

(3) kgim®
A

112 mwmpﬂmgﬁmﬁt

(1) 56 ¥ ST

\,(2)/5.6%7.63’»‘%1}'

(3) 56 @ &
(4) 7.6 | SIS



113 What is removed in the chlorination stage
of the purification of a water supply?
Y1) bacteria
(2) nitrates
(3) fluorides
(4) suspended solids

114 Which weigh the maximum?

(1) 2.24 L of COz at S.T.P

(2) 6.022 x 102 molecules of CO;
(3) 6.022 x 10 atoms of carbon

(4) 10 g CO;

115 Which of the following mixture cannot be
separated by the process of sublimation
(1) lodine and naphthalene

(2) Camphor and NaCl

(3) NaCl and NH4CI

(4) NaCl and lodine

116 The chemical substance which can be used
to separate the mixture of charcoal powder
and sulphur powder is
(1) Carbon dioxide

(2) Hydrochloric acid
(3) Hydrogen sulphide
(4) Carbon disulphide

113 o aqRf @ giesvor 3q Fald-iee
Jrqeeyt § FUT TCIAT ST 82
¢y sfrarog
(2) rggew
(3) FalIgsy
(a) Freifam stw

Prfafaa ¥ A fraer gewme aftread

gape?
224 L CO,9 S.T.P WX

(2) 6.022 x 10%° CO, @ ]
(3) 6.022 x 10 HTHT B YA
(a) 10 g CO;

115 fy=fafaa & | fa Ao &1 geurEsoT
T g T fear S wwar 87
(1) s+ va Averel|
FHIX ¢d NaCl
(3) NaCIga NH.CI
\(4)NaCIva IS
116 @ Yafre verf St RSl UNSY au
TEHY ISSY @ AT & AT B Ahdl
gas el
(1) Frda SFATTAES
(2) srsgiadiR® At

WTWW
Frdd I3 UhIgsS

114

117 e fra g &1 aad &

117 Cinnabar is an ore of:
(1) lron Q r (1) ater
(2) Copper (2) arar
(3) Mercury IR
(4) Zinc -W’ﬁﬁﬁ

118 Identify the correct option having the same

number of electrons

(1) H- , He'
(2) Na , Mg
(3) CI-, Ne
(4) Li, Be*

119 It is now known that one form of carbon
has molecules of formula Cgo, what is the
relative molecular mass of these
molecules?

(1) 12

(2) 360

(3) 60

{4) 720

118 <u ue Rew &1 979 Hifg R
gataglal @ W& WA Bdl 8
(1) H- , He*
\(2H¥a , Mg*
(3) Ci-, Ne
(4) Li , Be*
119 3ot &9 SR & % ST Cool[@ a1
av) @ w9 ¥ St vEdr 2 | v
&1 anifie e g @ gh?
(1) 12
360
(3) 60
(4) 720
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122
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124

125

126

Which of the following will show Tyndall
effect?

(1) Salt solution

(2) Sugar solution

(3) Milk

(4) Copper sulphate solution

Atomicity of phosphorus and sulphur is:
(1) 4,38
(2) 8,4
(3) 2,6
(4) 5,6

Which of the following contains maximum
number of molecules?

(1)1gCO:

(2)190:

(3)1gH:

(4)1g N2

An ionic compound of element M and
chlorine has the formula MCla. The molar
mass of MCls is 118.5. What is the molar
mass of oxide of element M?

(1) 28

(2) 44

(3) 72

(4) 99

The correct order of increasing proton
number is

(1) K, |, CI, Br, Ar

(2) K, Cl, Br, |, Ar,

(3) Cl, Ar, K, Br, |

(4) Ar, K, Cl, Br, |

During summer water kept in an earthen
pot becomes cool because of the
phenomenon of
(1) diffusion (2) transpiration
(3) osmosis (4) evaporation

On converting 25°C, 38°C and 66°C to
Kelvin scale, the correct sequence of
temperature will be

(1) 298 K, 311 K and 339 K

(2) 298 K, 300 K and 338K

(3) 273 K, 278 K and 543 K

(4) 298 K, 310 K and 338 K

120 Pr=fafaa ¥ @ a7 o fsa 9@
qufar 22
(1) @aur (@) faea
(2) @ @1 faeas
21
(4) BToR wewe faaa

121W€3W@ﬁmﬁiﬁ%2
438
(2) 8.4
(3) 2.6
(4) 5.6
122 Prefafaa ¥ @ feud aftear @& ¥
e 27
1gCO:
(2)1g0:
(3)1gH2
(4)1gN2
123 aca MU gatde @ anafie aifiis &
A MClsglar & | MCla &1 aoifa® geani
1185 glar 2| dcd M @ JATeIgS BT
aoifae gerr fear gl

(1) 28
(2) 44
\{2) 72
() 99
124 wiets wken ¥ gadd @ wdl quil aren
fawea 21
(1) K, I, Cl, Br, Ar
~(2rk, C\, Br, |, Ar,
(3) Cl, Ar, K, Br, |
(4) Ar, K, Cl, Br, |

125 frorprd § o B Ped @ adq § e
w%auﬁm%magmzi

SiTan 27
(1) faawvr ) arsaterst
(3) w=TERYT (a) arsas

126 25°C, 38°C AT 66°C @I I ATTHA 3
qRafifa & 9y 39 A &1 wel
IHa B?

298 K, 311 K a1 339 K
(2) 298 K, 300 K @1 338 K
(3) 273 K, 278 K a2 543 K
(4) 298 K, 310 K 2T 338 K
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128

129

130

Tincture of lodine has antiseptic
properties. This solution is made by
dissolving

(1) lodine in potassium iodide

(2) lodine in vaseline

(3) lodine in water

(4) lodine in alcohol

Atomic models have been improved over
the years. Arrange the following atomic
models in the order of their chronological
order.

(I) Rutherford’s model
(I) Thomson’s model
(lll) Bohr’s model

(1) (i), (i) and (i)
(2) (ii), (iii) and (i)
(3) (ii), (i) and (i) ) .
(4) (iii), (ii) and (i) N S

S

\\*

S

AMANS MATHS BLOGS.CO

The ion of an element has 3 positive
charge. Mass number of the atom is 27 and
the number of neutrons is 14. What is the
number of electrons in the ion?

(1) 13 (2) 10

(3) 14 (4) 16

Mass of one atom of oxygen is
02310839
(2) 32
1
3) 6023x1023 g

(1 = O
6023x1023 g
(4) 8u

127 i &1 ez ufomieh 1o waar 2
gz faqgs Frafafaa 4 | feust atas
U¥ gdT @ |
(1) aeRrw aratess ¥ At
(2) dwef ¥ sprard=
\B)ore #§ ImaEd=
(a) Cowiza ¥ A=

128 GwHI WiSdl &1 UHY & WY GUR gl
vl @ fFr=ifaRaa gy Aisat &t wwie
SIATHATIHR Falerd B |

() TEwIE wigd
() AT disd
(i) 9z wisa

(1) (i), (ii) @2 (i)
(2) (ii), (iii) < (i)
(3) (i), (i) TaT (iii)

A ili), (i) =T (i)

129 U® dcd @ ATTT UR 9 g9E9 2 |
URHTY] B G WA 27 dAT g IAl
&) W1 14 2| 314 H o gAdde™
SufRera 27

U3 (2)10
(3)14  (4)16

130 JATRfS & U@ AU &1 GAH siar

21
=2
6023x1023g

32

(2) 6.023x10%3 g
1

(3)

sorsa10 9
u
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Golgi apparatus is involved in the 131 Wfooll SUSYOT & a1 ® faw

formation of: BT 2 |

(1) Plastids (1) <ifRes

(2) Mitochondria (2) wrzerSifga

(3) Lysosome (3) arsrat

(4) Endoplasmic reticulum \4*)/31' ey

Chromosomes are made up of: 132 PUREF §9d 2:

(1) DNA and RNA

(2) DNA and Protein
(3) RNA and Protein
(4) DNA only R

N

(A EeaRarE v
(2) € w1 v 3k uidm @
By R v gk e @

o (a) daat A =1 v @

AMAS MATHS BLOGS.COM

The Tissue present in the husk of coconut
is:

(1) Chollenchyma

(2) Chlorenchyma

(3) Parenchyma

(4) Sclerenchyma

The fish in which entire skeleton is made
up of cartilage is:

(1) Rohu

(2) Tuna

(3) Catla

(4) Shark

The change from tadpole to an adult frog is
called:

(1) Fertilisation

(2) Reproduction

(3) Metamorphosis

(4) Metagenesis

Tendons and ligaments are:
(1) Connective tissue

(2) Epithelial tissue

(3) Muscular tissue

(4) Vasular tissue

133 Raa & yw Bas § sas 2
(1) srd~vrZTM

134 wwell, foraat vl da1a SuRerat &1
941 glan 2, 98 @:
[y

(2) ez
(3) dean

Y e

135 2Suld &1 avs Aed N HUARYT Seardl
2
(1) Frd==
(2) gs==
(3) sraravor
) AereHiR

136 @ ik w1y 2
Yy watsh sas
(2) shefifam sas
(3) deha FHas
(4) Was Has
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138

139

140

141

142

143

144

In the following which is not an example of
Rabi Crop?
(1) Wheat
(3) Pea

(2) Gram
Paddy

Cells of Cork have a chemical substance
which is known as:

(1) Suberin (2) Pectin

(3) Cellulose (4) Lignin

The Carbohydrate stored in animals is:
(1) Cellulose  (2) Starch
(3) Glucose  (4) Glycogen

Which of the following is not a green house

gas? :
hee B B
.
(4) N2O R /

Malaria is a human disease that is caused
by:

(1) Bacteria

(2) Virus

(3) Protozoa

(4) Mosquito

The species of plants and animals found
exclusively in a particular area are called:
(1) Endemic

(2) Endangered

(3) Exotic

(4) Biological

Which of the following is not macronutrient
for plants?

(1) Calcium

(2) Magnesium

(3) Sulphur

(4) lron

The correct hierarchy of classification of
organisms is:

(1) Genus, Species, Family, Order

(2) Species, Genus, Family, Order

(3) Species, Family, Genus, Order

(4) Species, Order, Family, Genus

137 fr=fafEa & 3= == S0 &
a8 27
WAEg (@ am
(3) Wex N4y EE

138 B1E A PIR@ET ¥ e IEEES -
a2, ® e
gafF (2) dfae
() Aegetw (o) Al

139 wigan ¥ wuRka FEleEge
(1) Qegate (2) werd
Y@ (4) TSI

140 ﬁwﬁmﬁﬁaﬁqmmﬁvwﬁ
2?7
(1) CO2
(2) SO2
3T CHa
(4) N2O

141 ﬁﬁmwmaﬁv?,mwa:
(1) sfvarog
(2) arsx¥
(3) wtetsnarn
() Fresv

142 et vg sgen @ g€ wiefs ot el
a3 % fiftre &9 |/ o Wl 8, 9
HEard! 2
(1) fagtsa=h
(2) eI~
(3) facww
Yoy fas

143 Prefufea 3 ot 08 @ fag gea-Te
T8 2

144 ol @ affEeor o1 WA UGTIHH o

(1) @wr, wnfa, wa. T

(2) L 99, $d, T

(4) wnfy, o1, HA, 99



145 The largest group of animals is:

145 Siqen &1 4@ 4$1 Y B

nnelida ferer
(2) Mollusca (2) Maws!
(3) Arthropoda (3) amertatEr
(4) Nematoda @) frteter
146 The disease ‘Kala-azar’ is caused by: 146 ‘HTATOIR’ A BT DIRD e
(1) Plasmodium (1) e fean
(2) Trypanosoma (2) fewrwisn
(3) Staphylococci @) CHEATDIBTS
(4) Leishmania @y et
147 A cell bursts up when placed in a hypotonic 147 (& e FeggerRvrerd) g 7 @
solution. This cell may be: B ord) 2| a8 SIR@T & dddl B
(1) Plant Cell (1) wrey HR@T
(2) Fungal Cell AEIC
(3) Bacterial Cell \/g;/?:"l i
(4) Animal Cell 3
(a) wiq ®1R®1
148 The undefined nuclear region of 148 MSRAey A e D AF A 8
prokaryotes is also known as: (1) DH
(1) Nucleoid = (2) sfesr
(2) Nucleolus \.(»sj/afaiﬁ
(3) Nucleus | (4) aife ard
(4) Nucleic acid NERN $ i
_AMANS MATHS BLOGS.COM_
149 The girth of stem increases due to: 149 T @ Werd (@RR), Ad sRe qed 2,
(1) Apical meristem 98 B
(2) Lateral meristem Vs fvrsatas
(3) Intercalary meristem ared Rareatad
(4) Central meristem (3) siaffe Rrmsalas
(a) =N frrsatas
150 The nitrogen fixing bacteria are found in 150 wrgetuE-Rediawr o ard e,
the roots of: Rraa wiel 4 Uit wid 2, 98
(1) Gram (1) ==
(2) Mustard (2) Gzt
(3) Wheat (3) ﬁi
(4) Paddy
\M’F‘I
151 Which of the following disease is not 151 =@ @ @ta @1 A oA g A€ B
caused by bacteria? 22
(1) Anthrax (1) ol ol
(2) Tuberculosis (2) &a A
(3) Typhoid W qER
(4) Malaria

(a) waARan
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183

154

155

156

157

158

Which of the following fishes is a surface
feeder?

(1) Rohu

(2) Mrigal

(3) Catla

(4) Common Carps

The plants which bear naked seeds are:
(1) Pteridophyta

(2) Gymnosperms

(3) Bryophyta

(4) Angiosperms

In Whittaker’s classification, unicellular

eukaryotic organisms are grouped under:

(1) Protista
(2) Monera
(3) Fungi
(4) Animalia

Hepatitis targets the organ:
(1) Brain
(2) Lungs
(3) Liver
(4) Kidneys

N
AMAN

Which of the following is not a step of
nitrogen cycle in the nature

(1) Ammonification

(2) Nitrification

(3) Nitrogen fixation

(4) Carbonization

‘Ozone-hole’ means:

(1) A large sized hole in the ozone layer
(2) Small holes scattered in ozone layer
(3) Thinning of the ozone layer

(4) Total disappearance of ozone layer

Which of the following is a true fish?
(1) Dog fish

(2) Star fish

(3) Jelly fish

(4) Silver fish

152 fr=ifefaa wefaat § al9 va &) gad)
il 87
(1) 9
(2) e
3y Fear
(4) ®Ta7 PHroad

153 gt Ry 575 fio ghd @, @ &
eReIwIgen
(2) R
(3) aratwrzer
(4) vforategsd

154 fedax @ affaxy & vealfte g@Rare
Sfal &t w@r T @
(1) wifewer &
(2) == A
Had!l o
(a) wPwfera 3
155 fRdergfew, v @i &) ywifya avar 2,
qE 2
(1) sRass
BES
(3) ama

() T

156 37 @ ®t9 w1 o yafy A v oW
qrel AFEIST A% /A L) T 22
(1) srtfravor
(2) =g
(3) Welro-Re®or
&Td frwvv

157 aneia e 9@ afmar @
3o wa ¥ o 92 e @1 e
(2) s+ uva § D Bie-Bie IBR D
ftre
(3) o= wRa &1 o g
(4) smorts wra @1 yofa: R &=n

158 F=ifefaa & &t ve anafds sed 22
Na}-<rafhe
(2) TR fber
(3) Stefiftber
(4) Rreax fpgr
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164

165

166

In the following which is incorrect
characteristic feature of chordates?
(1) Presence of notochord

(2) They are diploblastic animals.
(3) They have a dorsal nerve cord
(4) They have paired gill pouches

The two groups of microorganisms frem
which antibiotics could be extracted are:
(1) Bacteria and protozoa

(2) Fungi and algae

(3) Bacteria and fungi

(4) Fungi and protozoa

The cell organelle which acts as ‘Garbage
Disposal System’ of cell is:

(1) Vacuole

(2) Ribosome

(3) Lysosome

(4) Golgi apparatus

‘The Theory of Natural Selectlon was

159 3 @t ) afrenafe gy HAHD!
shat @ fag s 27
Wy AreraiE @ suRafy
(2) ¥ RaR® IR ard ha &
(3)!{@1@113;&?%333113}31
(4)wﬁgﬁvaaaﬁs}6ﬁ$r@m

169 qmuﬁa}a%@aiwmuﬁdﬁa
fresfifa fog o w@d 2
Ly Sharey R wietsie
(2) ®as AR dard
(3) sharvy 3R Ba®
(4) Ta® R WS

161 ST sired o BIRGT B Fax Faer
43 @) ave a1l BYal @, 98 B
(1) Rfaasr
(2) wrgarata
(3) emgEEH

@)y Tiesht SuaT

162 Safaer @ THiie a1 &1 Rigd

proposed by: P g gxarfaa fear wan
(1) Darwin L. (1) =ifs

(2) Artistotle () IR

(3) Linnaeus Q i g (3) fafraa

(4) Lamarck +_(a) Qe

Vaccination is discovered by: 163 A@THo A @ e B, 9@ @
(1) Edward Jenner  (2) Robert Hooke \_(,f)/q%ﬁé IR () vee B
(3) Marshall (4) Warren (3) areta (a) =

The tissue found in iris of eye is:
(1) Striated muscle  (2) Cardiac muscle
(3) Smooth muscle (4) Areolar

Which of the following is a weed?
(1) Sunhemp  (2) Parthenium
(3) Linseed (4) Oat

The cell organelle, which have their own

DNA are:

(1) Lysosome and plastids

(2) Lysosome and Vacuole

(3) Mitochondria and plastids

(4) Golgi apparatus and endoplasmic
reticulum

164 af@ # RaR® & WY 9 9Tl Had
2
(1) Waw e (2) gEEH 9
~day Ta+h deft  (4) GRaAER

165 Pr=ifafag ¥ @ @i GUGaR 27
(1) gews TR =N
(3) s ¥ (4) Wi

166 HIfrer ai®, RrAt w@a &1 3 T ¢ Bl
E
(1) argaratn e wies
(2) ArgEIaTT FAT CHET
() geraifyar au @RS
(a) TYeoh SUBHRUI G Saed) Sl



167 Which of the following is not a function of
waxy layer on the outer surface of aerial
parts of epidermis?

(1) Protection against loss of water

(2) Protetion from mechanical injury

(3) Protection from invasion by parasitic
fungi

(4) Protection against photosynthesis

168 The organisms formed by symbiotic
association between algae and fungi are
called: ; ;
(1) Bryophyta

(2) Lichens

(3) Pterdophyta
(4) Gymmosperms

AMANS MATHS BLOGS.CO

169 In the following the cold blooded animal is:
(1) Monkey

(2) Lizard

(3) Rat

(4) Hen

170 Which of the following animal products has
maximum protein?
(1) Meat
(2) Milk
(3) Egg
(4) Fish

167 ufieffa @\ ag & U@ arell WA W
At @ ud @1 Fre=faRaa ¥ @ a9 W
& & 27
(1) o @ &1 |/ @99 BT
% atel | q9rd &%Ar|
(3) ol Fasl & AmHAYT | q99
HAT |
(4) ybrer WYl ¥ 49 A |

168 U® Yard 3R Bae @ 419 Geelid] WwEy
?d &1 9 Sad B &

(2) arR®
(3) 2ReiwZeT
(a) o=

169 fFr=ifaRaa ¥ sremardia &g @
(1) d®
NS gicrl
(3) 7@
(a) it

170 fr=feaRaa fra sig Sarel § 9dE e
aftre gl 27
Ny i
(2) g@
(3) srsr
(a) wweh



part - IV

171

173

174

175

176

L\

MATHEMATICS

fx=v6-V3.y=V3-V2.z= V2 - V6,
then find the value of x* + y* + z° — 2xyz
(1)3vZ-4V3 +V6
(2)0

(3)3VZ +5V3 - V6
(4) V6 + V3 +V2

AMANS MATHS BLOGS COM

171

af x=V6-V3,y=V3—-V2,z2=v2-V6
g, @ 2+ y +2° - 2xyz @1 A W
& |

3VZ - 4V3 +V6
(2)0
‘-és’)?/»’i+5~/- V6

(a6 + V3 + V2

J;+J12+ﬁ_2_¥_—m|sequalto
(1) -3

(2) 4

(3) 12

(4) 3

The remainder when x*° is divided by
x*-1is

(1) o

(2) x

(3) 2x

(4) -x

Find thea value of

th+c)?
ta-b)ic-a)

(a+b)®
(h=cile-a)
tcva)*
(a=b)th-c)

(1o
(2) 1
(3) 2
(a)—1

V2=

If VZ = 1.4142then |= sequalto

(1) 2.4142
(2) 0.4142
(3) 5.8282
(4) 0.1718

lf€+§= —1 (x,y # 0), the value of 3=y

is

(1) 1
(2) %
(3) 0
(4) 1

\\//// 12+ 12+V1Z + 0 ® aUER

(1) -3
4
(3) 12
(4) 3
afy ¥S&) x2 -1 [ i fRar sme A
siwe w1
1) o
(2) x
(3) 2x
=

173

(h+c)? (c+a)®

(a-b)(b~-c)

tash)*

174 &1 AT

(h=c)le—a) (a-h)(c~a)

B

0
(2) 1
(3) 2

=3

175 7
7 = 1.4142d4 Z‘aﬂqmg’mr—

afe \
(1) 2.4142
0.4142
(3) 5.8282
0.1718

176 afk 1+i=-1(xy+0)T8 £ —y P A

BT



177

178

179

180

181

If a, b and c are all non-zero and a+b+c
O S o
=0, then the value of = + — + —will be
be ca ah

(1) 3
(2)-3
(3) o
(4)—1

A person saves 180 minutes in covering a
certain distance when he increases his
speed form 25 km/h to 30 km/h. Find the
distance.

(1) 250 km

(2) 420 km

(3) 450 km

(4) 560 km

The greatest 5 digit number exactly
divisible by 9, 13 and 17 is

(1) 99945

(2) 99954

(3) 99450

(4) 99918

IfP:Q:R=2:3:4and P* + Q* + R* =
11600, thenfind P - Q + R

(1) 60

(2) 20

(3) 24

(4) 100

In the adjoining figure, ABCD is a
rectangle and E and F are the midpoints
of the side BC and CD respectively. What
is the ratio of the area of AAEF to area of
AFCE?

A D

F

B E c
(1) 2:1
(2) 5:2
(3) 3:1

(4) 2:3

177

af¥ a, b aur ¢ W I @ & W

2

\%&o,m 4+ X 4+ “a wE Bt
be ca ab
s

(3) o
()1

afea afe s ara 25 fadt ufa

178
\\/f:aﬁameso%ﬂuﬁmm

179

180

181

2 2 @t s fAlEd ¢ &t 97 & A
gz 180 fe @) aga & dar 21 g4
T B |

(1) 250 f&f

W 420 feh

3Y 450 fHi
(4) s60 f

gig el &) 98 991 @ a<) W@ ol 9,
13 @ur 17 ¥ gofa: femfora s
(1) 99945
(2) 99954
450
99918

afe P:Q:R=2:3:4 @u1 P* +Q* + R* =
11600, & a@ P —Q + R & #I4 Sd &
60

o

\,(9);«100

Wer faa F ABCD U@ 3id 1 favg
E a1 F %99 el BC @1 CD &
wey fa=g &) Begoil AEF @1 FCE @
ga%el &1 AU FAT M2

A D

F

2 : C
I
dz}}sjz
(3) 3:1
(4) 2:3




482  \fal/™ = p!/" = ¢1/? and abe = 1, then the 182 ufe qi/™ = p'/* = ¢/? QAT abc =1 &l

valueof m+n+pis W m+n+p B AA L
(1M1 (1) 1
(2) 2 2
(3)-1 3)—1
o . ()—0

183 By selling 18 chocolates, a vendor losses 183 18 dfgdel ) 39N W @ RApdar 31 2

the selling price of 2 chocolates. Loss afrael @ fawa qea & et gg | g
percent is: yfrea 28—

(1) 8% (1) 8%

(2) 10% M%

(3) 12% (3) 12%

(4) 6% (4) 6%

184 12 women can do a piece of work in 20 184 12 3RQ e W ) 20 A ¥ B wHA

days. If the 4 women denied to work, then £ afy o |/ 4 aitxal F d HE B
to complete the work number of more T S foar af 99 W &) s i B
days required will be fraet aiftre s e
(1) 6 days \‘% e
(2) 10 days (2) 10 Ry
(3) 12 days (3) 12 R
(4) 30 days (@) 30 R

185  In figure, if BC passes through the centre 185 amgpfa & aft BC qa & &= q sl
of the circle and AB = AC = a units, then ﬁm—\r;ﬁ 2 gem AB=AC=a IHIS Bl
area of the shaded region (in sq. units) wraifea arT &1 83%d & (@ 3518 H)

ME@-m
@ (:-1) @ e (2-1)
(R)2a (x=1) (3) 2a%( — 1)
@5(G-1) wri(5-1)

186  If there are two children in a family, then 186 aft ve sRax § @ 7 ¥ At 9 9@
the probability of atleast one girl in a P9 UH dSH) Bl DI giRaT 2
family is (1) 1/4
(1) 1/4 2112
(2) 172 (3)1
(3)1 (4) 3/4

al
AMA (1) -Z_ (3 = 71')

(4) 314




187

188

189

190

191

192

The value of 0. 357is

322
(1) 35

2 =

®) 305

900
161
o s

450

If x + 1; = 3, then find the value of (x3 -+

L)@ +z
(1) 396
(2) 243
(3)126
(4)125

The mark price of a radio is Rs.3840. The
shopkeeper allows a discount of 10% and
gains 8%. If no discount is allowed, his

chm would be
: %

(2) 20%
(3) 25%
(4) 30%

If the median of the observations in
ascending order 24, 25, 26, x +2,x+3,30
31, 34 is 27.5, then the value of x is

(1) 24

(2) 25

(3) 26

(4) 27

Mean of 9 observations was found to be
40. Later on, it was detected that an
observation 21 was misread as 12. The
correct mean is

(1) 39

(2) 40

(3) 41

(4) 42

If volume of a cube is V units?, the surface
area is A units? and length of a diagonal is
D units. Then
(1) 6V = AD

(3) V3A=VD

(2) 63V =AD
(4) 6D = AV

187

0.357 &1 HI9 &
322

(0] Jeors
2) i
161

() 55

1
450

188

189

190

191

f¥ x+i=3, at (x3+ﬁ)(x2+:'z— B
A | )
(1) 39
243
(3) 126
(4) 125

Ieat @1 aifba qeu 3840 B 21

gmmwwwuﬁrmaﬁqa%m%

ax 8 ufvera @ saral @1 e 9@ B3

wgaémaﬁmmuﬁmﬂiﬁm:
18%

(2) 20%

(3) 25%

(4) 30%

ofe d&or 24, 25, 26, x +2,x + 3,30 31,
34mamﬁ%'amgaaﬁm
2752 @t x &1 A &
(1) 24
(2)

26
(4) 27

gﬁaﬁmmwmﬂmlmﬁ
wm%dmmmﬁum
T o) e e ®

(1) 39

(2) 40

192

wmmmvwm?.m
q.m_Aaﬂméaamwﬁawfaﬁ
wvard D goiE & At

(1) 6V = AD (2) 63V = AD

A=VD CfeD.= AV




193

194

195

196

197

In the figure there are 3 semi-circles. The
radii of both smaller semi-circles is equal.
If the radius of the larger semicircle is 22

(1) 363§cm2
(2) 121 mem?

(3) 236.5 mem?
(4) 363 mem?

A
\!10 + \[25 + Jloa + /154 + V225 is equal

to

(1)2
(2)3
(3)4
(4)5

In the given figure, ZAQB is equal to

ha) RS

X
(1) 18° (2) 20° (3) 22° (4) 24°

Factors of x® — 1 are

M) (x+Dx - +x*+1)

(2) (x + 1)(x — 1)t —-xt-1)

(3) (x + D(x — D(x* + 1)(x* - 1)

@) x+ D -V + P +x* +x+1)

How many sides does a regular polygon
have if the measure of an exterior angle is
24°?

(1) 12

(2) 13

(3) 15

(4) 18

193 & ¢ angfa A N aef g9 &1 IS

2 B ad gal @ e e 8
afe a2 o ga & Browr 22 A0 @ a

(1) 363

(2) 121 maY?

(3) 236.5 m WHP?
4363

[
[
10 + \)25+,}108+ 154 + V225®1 A1+

2
(1) 2
(2)3
4
(4) 5

195 & g Pl A, 2AQB AR @

W TG

22° (4) 24°
X6 —1 B IUFEETS B

MG+ DE-DE+x*+1)
.,(fZ)/(x +DE -1 —x*—-1)
MY + Dx — DX+ DEE - 1)

(4) (x + D(x = 1)(x* +2° + ¥ 4x+1)

v@ GRS B UP arEdivi 24° 2
waaEIel A qesil @ W a gf?

(1) 12
(2) 13 3 R

S
S\
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198

199

200

Vro.

In the given figure, ABCD is a rhombus.
AC and BD are its diagonals intersecting
at O.1f zOAB = 37°, then find 20CD +
£OBA

Ea
i

(1) 90°
(2) 143°
(3) 43°
(4) 127°

A hollow sphere with internal and external
radius as 7 cm and 8 cm respectively is
melted and recast into a cone with a
height of 16 cm. The diameter of the base
of the cone will be

(1) 26 cm

(2) 6.5cm

(3)13 cm

(4)10 cm

In the given figure, AB||CD, value of ‘x’ is
e 3=
O B
100"
E {(x+10Y

30

& 1

o
N

N C D
r}mo*’(z) 90° (3) 110°(4) 140°

e
rd

198

& 3 amgfa A ABCD U@ A 2|
AC qernt BD Rievf fasg 0 w yfsfa
&<d & afz ,0AB =37°8 @ £0CD +
LOBA &1 W4 @1 8l

DC
AB

(1) 90°
43°
ARYA

(4) 127°

199 Ta @raar mar, orael s 9 q1E

Byeard Hag: 7 AWl aAT 8 af. &, #
Ruaras e 16 Q. Faig aradl HED
ST AT 2| UE, P ATER B AT
Rl
(1) 26 cm

/(1)/6.65 cm

<BFRcm
(4) 10 cm

200 anpfa # ABJ|CD, ¥’ @I AH 2

< A oS
< —>
100°
E (x+10)"
T

30°
e

e
() 100%@%94113%4) 140°

& 1
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GK PHYSICS CHEMISTRY BIOLOGY MATHEMATICS
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T A 51 A 91 B 131 C 171 A
? B 52 D 92 B 132 B 172 B
? A 53 C 93 D 133 D 173 D
T A 54 B 94 D 134 D 174 B
? D 55 C 95 C 135 C 175 B
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31 C 81 D 121 A 161 C

o e | o || o e [ A | |
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47| D
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